= (8a+5b)8a— )

(0.9x+0.2)(0.9x—0.2)

EIEE] ECH IE ZIHA DR NO9 NAME 16
] Vo0 [T REARGIC £ B WETR
Aa—A Ba—XA Ca—=RA
O *?-9 O x2—1 O —b%2+81la?
— 4232 — x2—12 = (816;;[)’2
= (8a) — b
=(x+3)x—3) = (x+1D&—1 _ (SZJF[))(SLZ*/))
©® x—121 ) —100 @ —64n%+25m?
2112 2 12 = 25m? —64n?
=Gx+1DK&—11) = (¢+10)(e—10) = Gm+87)Gm—8n)
® 16— @ 81—y @ —14x%2
= 4%2—x2 = 92y = Xzyzflz
= (xy)—1
= 4+xr@d—x = (3+y)B—y) — G+ 1Day—1)
@ 4-a @ 169—x? @ —6—14+x2
= 922—q3? = 13—x? = x2f6f14—x —( 1)
= 2+d@—0a) = (13+20(13—x) =G+ 1)()6**)
® 4—1 ® 0.49m>—0.36 ® —xttge
= @20 —1 — 0.7m0.6" = Pee=GT -
=@2x+12x—1) = (0.7m+0.6)(0.7m—0.6) (%+x)( R
© 8lx*— ©® 1—0.16y? ® 2%2+3ig
= (902 — 1204y _ %7 7(17)7( q)
= (9x+2)(9x—2) = (1+0.4y)(1—0.4y) —(6+ )(
@  —49+100x2 @ 025 @ —0.25+x7
= 100x%—49 oye = x—0.25
= (10%)— 7 N (g) 0> y = x*—0.5
= (10x+7(10x—17) = (5 +05)3 +0.5) = (x+0.5)(x—0.5)
xZ—36)2 16a%— 9b2 — b2+ 4a?
=2’ (6y)” = (40— (3b)° _ Zlfj )b;
@ 4a%—81b2 @ 36m2—121n2 @ —b'+16a2
= (20— 9D)* = 6m'— 1) = 16a0
= (4a)— (")
= (2x+9b)(2x—9b) = (6m+112)(6m—11n) _ § )
9 25 . = (4a+b)da—bd
—a’+4y? 1—6xy 310 —0.25y24 0.36x?
=4y @ _ (_x )7(_ab)~ = 0.36x%—0.25y*
=2y —a’ B . = (0.60°—(0.5y)"
= &yta)@y—a = ( XY +g “b)( "y**ab) = (0.6x+0.5)(0.6x—0.5)
® ¥ig ) 0.016—0.645° @ —0.09x240.494
— Yy (0127 — (0.8 = 0.49a°—0.09x"
y4 . : : = (0.7a) —(0.3x)
= Gty —p) = (0.1a+0.86)(0.1a—0.8b) = (0.7240.30(0.7a—0.32)
® 640’ 5o © 0.81x—0.04 ® —Pr+ fé s
= 82 (50’ — (0.90— 0.2° = 8L 49 (O (T

16 9 ¥

(—a+—x )(Z 2 Ty %)

3




